@ we look at two ways fo solve this eroblem,

Due to the superpeosition princicle we can view the charﬁe in two parts, infinite lane with
charje o\ensﬁﬂ +0, and a digk with charﬁe -0. ToSQﬂ\er +hea gve us the desired charﬂe
distribution. For the infinite plane we et accoro\'\nﬂ to section 1-6.3 in the book
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and over the center of the disk we have, accord\nﬁ to Ex. 58
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we can also use direct '\r\+eﬁraﬂor\ (compare to Ex. 58 aﬂa\r\)
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b) h=0 — E = O due to the syrmetric cancelations of al contrisution to

the field in the center of the hole. The 2-component is o
as al contributions to the field are in the plane of the
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as far enouﬁh 3way no hole is seen anymore

@ PoiseuilR's law
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we want to £ind A% \M\ne,v\ % = \0
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—>| in order to increase the fow 4o-fold, we need apptoximately 8%
increase of the radius of the artery
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and compared to the indicated direction of rotation the direction of B, the vector,
is out of the P2 perpendicular to it, as can be seen be the V\ﬂ\'ﬁ’ hand rule




